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MATHS

BOOKS - NCERT EXEMPLAR

DATA HANDLING

Solved Example

1.The range of the data 9, 8,4,3,2,1,6,4,8,10,12,15,4, 3 is

A. 15

B.14

C.12

D.10

Answer: B



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_X4v7tErLydXF
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2.The following data : 2, 5, 15, 25, 20, 12, 8, 7, 6, 16, 21,17, 30, 32, 23, 40, 51, 15,

2,9, 57,19, 25 is grouped in the classes 0 -5, 5 -10, 10 -15 etc. Find the

frequency of the class 20 -25.

A5

B.4

C.3

D.2

Answer: C

o Watch Video Solution

3. The pie chart depicts the information of viewers watching different

type of channels on TV. Which type of programmes are viewed the most?


https://dl.doubtnut.com/l/_X4v7tErLydXF
https://dl.doubtnut.com/l/_g9aHAtVeOJHQ
https://dl.doubtnut.com/l/_c7U1W96nRPdz

A. News

B. Sports

C. Entertainment

D. Informative.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_c7U1W96nRPdz
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Observe the histogram given above. The number of girls having height

145 cm and above is

A5

B. 10

C.17

D.19

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_4cYkr202b8U5

5. A dice is thrown two times and sum of the numbers appearing on the

dice are noted. The number of possible outcomes is

A.6

B. 1

D. 36

Answer: B

° Watch Video Solution

6. The probability of getting a multiple of 2 when a dice is rolled is

>
W= o+

@


https://dl.doubtnut.com/l/_4cYkr202b8U5
https://dl.doubtnut.com/l/_F5bzCahiFP2g
https://dl.doubtnut.com/l/_ssAouUhheCn9
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Answer: C

° Watch Video Solution

7. The fourth class interval for a grouped data whose first and second

class intervals are 10 -15 and 15 -20 respectively is

° Watch Video Solution

8. In the class interval 250 - 275, 250 is known as the

A. Middle class limit.
B. Lower class limit.

C. Upper class limit.

D. None



https://dl.doubtnut.com/l/_ssAouUhheCn9
https://dl.doubtnut.com/l/_UdWIundierka
https://dl.doubtnut.com/l/_PMW2dIZqVPAL

Answer: B

° Watch Video Solution

9. The number of times a particular observation occurs in the given data

is called its

A.Range

B. Class mark

C. Frequency

D. None

Answer: C

° Watch Video Solution

10. The central angle of the sectors in a pie chart will be a fraction of

360°



https://dl.doubtnut.com/l/_PMW2dIZqVPAL
https://dl.doubtnut.com/l/_jE3vLcSVJENT
https://dl.doubtnut.com/l/_tVOo6oA3RIx9

| o Watch Video Solution

11. On throwing a dice, the probability of occurrence of an odd number is

5. True or false.

o Watch Video Solution

12. Pictographs

o Watch Video Solution

13. The weekly wages (in Rs.) of 30 workers in a factory are give:
830,835,890,810,835,836,869,84 5,898,890,
820,860,832,833,855,845,804,808,812,,840,885,835,835,836,878,840,868,890,806,84
Mark a frequency table with intervals as 800-810, 810-820 and so on, using
tally marks. Also, draw a histogram and answer the following questions:
Which group has the maximum number of workers? How many workers

earn Rs. 850 and more? How many workers earn less than Rs. 8507


https://dl.doubtnut.com/l/_tVOo6oA3RIx9
https://dl.doubtnut.com/l/_kSh3WNDnsWRL
https://dl.doubtnut.com/l/_Vq2UAGYgnUAM
https://dl.doubtnut.com/l/_cHt3rfVGhnNu

° Watch Video Solution

14.The pie chart gives the marks scored in an examination by a student in
different subjects. If the total marks obtained were 540, answer the

following questions

vs

In which subject did the student score 105 marks?

° Watch Video Solution



https://dl.doubtnut.com/l/_cHt3rfVGhnNu
https://dl.doubtnut.com/l/_A1IUrL6p5IDj
https://dl.doubtnut.com/l/_hkQdKKKfdxHd

15. The pie chart gives the marks scored in an examination by a student in
different subjects. If the total marks obtained were 540, answer the

following questions

E
\J

How many more marks were obtained by the student in Mathematics

than in Hindi?

o Watch Video Solution



https://dl.doubtnut.com/l/_hkQdKKKfdxHd

16. Draw a pie chart for the given data.

Favourite food Number of people
North Indian 30
South Indian 40
Chinese 25
Others 25

o Watch Video Solution

17. Draw a histogram for the frequency distribution table given in
Example 13 and statement of Example 13 is given by as-

The weekly wages (in Rs.) of 30 workers in a factory are 830, 835, 890, 810,
835, 836, 869, 845, 898, 890, 820, 860, 832, 833, 855, 845, 804, 808, 812, 840,
885, 835, 835, 836, 878, 840, 868, 890, 806, 840. Using tally marks, make a
frequency distribution table with class intervals 800 - 810, 810 - 820 and
so on. Answer the following questions

Which class interval has the maximum number of workers?

o Watch Video Solution



https://dl.doubtnut.com/l/_6JAqMbJVu3k4
https://dl.doubtnut.com/l/_rlMcBLtll9eh

18. Draw a histogram for the frequency distribution table given in
Example 13 and statement of Example 13 is given by as-

The weekly wages (in Rs.) of 30 workers in a factory are 830, 835, 890, 810,
835, 836, 869, 845, 898, 890, 820, 860, 832, 833, 855, 845, 804, 808, 812, 840,
885, 835, 835, 836, 878, 840, 868, 890, 806, 840. Using tally marks, make a
frequency distribution table with class intervals 800 - 810, 810 - 820 and
so on. Answer the following questions.

How many workers earn Rs. 850 and more?

o Watch Video Solution

19. Draw a histogram for the frequency distribution table given in
Example 13 and statement of Example 13 is given by

The weekly wages (in Rs.) of 30 workers in a factory are 830, 835, 890, 810,
835, 836, 869, 845, 898, 890, 820, 860, 832, 833, 855, 845, 804, 808, 812, 840,
885, 835, 835, 836, 878, 840, 868, 890, 806, 840. Using tally marks, make a
frequency distribution table with class intervals 800 - 810, 810 - 820 and

SO on


https://dl.doubtnut.com/l/_rqGvqXlAt3Su
https://dl.doubtnut.com/l/_dqPC4P9qG6Hd

Answer the following questions.

How many workers earn less than Rs. 8507

o Watch Video Solution

20. Draw a histogram for the frequency distribution table given in
Example 13 as

(Data: 830, 835, 890, 810, 835, 836, 869, 845, 898, 890, 820, 860, 832, 833, 855,
845, 804, 808, 812, 840, 885, 835, 835, 836, 878, 840, 868, 890, 806, 840) and
answer the following questions.

How many workers earn Rs. 820 or more but less than Rs. 8807

o View Text Solution

21. Read the frequency distribution table given below and answer the

questions that follow:


https://dl.doubtnut.com/l/_dqPC4P9qG6Hd
https://dl.doubtnut.com/l/_MLmcWDGMeWAW
https://dl.doubtnut.com/l/_qFsCFSmLoEgT

Class Interval Frequency
25 - 3b l
35 - 45 H
45 - 55 5
hh - 6h 1
6hH - 75 ¥
75 - Bh by
85H o ah 2
Total 25

Class interval which has the lowest frequency.

o Watch Video Solution

22. Read the frequency distribution table given below and answer the

questions that follow:


https://dl.doubtnut.com/l/_qFsCFSmLoEgT
https://dl.doubtnut.com/l/_y4IB7miSBSgl

Class Interval Frequency

25 - 35 l

35 - 45 5

45 - 55 -

hH - 65 R

65 - 75 0

75 - 8BS 8

85 - 95 2
Total 25

Class interval which has the highest frequency.

° Watch Video Solution

23. Read the frequency distribution table given below and answer the

questions that follow:


https://dl.doubtnut.com/l/_y4IB7miSBSgl
https://dl.doubtnut.com/l/_QXMSoH2pifrs

Class Interval Frequency
25 - 35 l
45 - 45 H
45 - 55 5
hh - 65H 1
65 - 75 0
75~ 8Bh 5
85 95 2
Total 25

What is the class size of the intervals?

° Watch Video Solution

24. Read the frequency distribution table given below and answer the

questions that follow:


https://dl.doubtnut.com/l/_QXMSoH2pifrs
https://dl.doubtnut.com/l/_bMjUPk7pvrvs

Class Interval Frequency

25 - 35 |

35 - 45 5

45 - 55 5

55 - 65 ]

65 - 75 0

75 - Bh B

85 - 95 2
Total 25

What is the upper limit of the fifth class?

° Watch Video Solution

25. Read the frequency distribution table given below and answer the

questions that follow:


https://dl.doubtnut.com/l/_bMjUPk7pvrvs
https://dl.doubtnut.com/l/_MA26F9v2BN1c

Class Interval Frequency

25 - 36 1

35 - 45 | 5

45 - 55 =

hh - 6h 1

65 - 75 0

75 - BH 5

85 - 95 2
Total 25

What is the lower limit of the last class?

o Watch Video Solution

26. Application on problem solving strategy
Given below is a pie chart depicting the reason given by people who had
injured their lower back. Study the pie chart and find the number of

people who injured their back while either bending and lifting. A total of


https://dl.doubtnut.com/l/_MA26F9v2BN1c
https://dl.doubtnut.com/l/_aIe1WwkJ2U0o

600 people were surveyed.

:

Twisting

2

3. Bending
4. Pulling
5 Others

° Watch Video Solution

Think And Discuss

1. Given below is a pie chart depicting the reason given by people who

had injured their lower back.
If the total angle covered by all sectors is 360°, find the angle covered by

the sector representing the people who injured their back by pulling only.

| ° Watch Video Solution


https://dl.doubtnut.com/l/_aIe1WwkJ2U0o
https://dl.doubtnut.com/l/_ZQlgrM0RX3mL

2. Given below is a pie chart depicting the reason given by people who
had injured their lower back.
If the number of people surveyed is doubled, would the number of people

who injured their back by bending and lifting also be doubled?

o Watch Video Solution

Exercise Choose The Correct Answer

1. The height of a rectangle in a histogram shows

A. Width of the class
B. Upper limit of the class
C. Lower limit of the class

D. Frequency of the class


https://dl.doubtnut.com/l/_ZQlgrM0RX3mL
https://dl.doubtnut.com/l/_IgPHle4vOiZw
https://dl.doubtnut.com/l/_sEESg7XdFSMc

Answer: D

° Watch Video Solution

2. A geometric representation showing the relationship between a whole

and its parts is a

A. Pie chart

B. Histogram

C.Bar graph

D. Pictograph

Answer: A

° Watch Video Solution

3.1n a pie chart, the total angle at the centre of the circle is


https://dl.doubtnut.com/l/_sEESg7XdFSMc
https://dl.doubtnut.com/l/_54GRu0KHCUh0
https://dl.doubtnut.com/l/_q2GyQNZAAXN8

A.180°

B. 360°

C.270°

D.90°

Answer: B

o Watch Video Solution

4.The range of the data 30, 61, 55, 56, 60, 20, 26, 46, 28, 56 is

A. 26

B.30

C. 41

D. 61

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_q2GyQNZAAXN8
https://dl.doubtnut.com/l/_3z7RZdNCIzcw

5. Which of the following is not a random experiment?

A. Tossing a coin
B. Rolling a dice
C. Choosing a card from a deck of 52 cards

D. Thowing a stone from a roof of a building

Answer:

o Watch Video Solution

6. What is the probability of choosing a vowel from the alphabets?


https://dl.doubtnut.com/l/_3z7RZdNCIzcw
https://dl.doubtnut.com/l/_fRgbsXzFuYtH
https://dl.doubtnut.com/l/_aRZF02hYMFmG

Answer:

° Watch Video Solution

7.1n a school only, 3 out of 5 students can participate in a competition.

What is the probability of the students who do not make it to the

competition?

A. 0.65

B.04

C.045

D.0.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aRZF02hYMFmG
https://dl.doubtnut.com/l/_kbdrbpvaBp29
https://dl.doubtnut.com/l/_CN5gVD81kN4H

8. Observe the pie chart given below and answer questions based on it.

1
Which colour received 5 of the votes?

A. Red

B. Blue

C. Green

D. Yellow

Answer:


https://dl.doubtnut.com/l/_CN5gVD81kN4H

° Watch Video Solution

9. Students of a class voted for their favourite colour. If 400 students

voted in all, then how many did vote 'Others' colour as their favourite? .

A 6
B. 20

C.24


https://dl.doubtnut.com/l/_CN5gVD81kN4H
https://dl.doubtnut.com/l/_bJloyJlSzHWP

D. 40

Answer:

o Watch Video Solution

10. Students of a class voted for their favourite colour and a pie chart was

prepared based on the data collected.


https://dl.doubtnut.com/l/_bJloyJlSzHWP
https://dl.doubtnut.com/l/_IiowRG13EmuN

Observe the pie chart given below and answer questions based on it.

Which of the following is a reasonable conclusion for the given data?

A 2—10 th student voted for blue colour

B. Green is the least popular colour

C. The number of students who voted for red colour is two times the
number of students who voted for yellow colour

D.Number of students liking together yellow and green colour is

approximately the same as those for red colour.

Answer:

o Watch Video Solution

11. Listed below are the temperature in ° C for 10 days.
-6, —8,0,3,2,0,1,5,4,4

What is the range of the data?

A8


https://dl.doubtnut.com/l/_IiowRG13EmuN
https://dl.doubtnut.com/l/_D2qgxCFEkR7f

B.13°C

c.10°C

D.12°C

Answer: B

° Watch Video Solution

12. There are 4 blue, 7 red, 3 black and 6 white balls on a table. A cat
jumped on the table and knocked out one ball on the floor. What is the

probability that the ball is blue?

Sl = O = oW N
| | e 13|

Answer:



https://dl.doubtnut.com/l/_D2qgxCFEkR7f
https://dl.doubtnut.com/l/_O1lPCou7HerQ

| @J Watch Video Solution

13. Rahul wins if spinner lands on red. Varun wins if spinner lands on blue
and Yash wins if it lands on green. Which of the following spinner should

be used to make the game fair?

RERRR
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A. (i)

B. (ii)

C. (iii)

D. (iv)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_O1lPCou7HerQ
https://dl.doubtnut.com/l/_6EdzR5PQR6K3

14.In a frequency distribution with classes 0-10, 10-20 etc., the size of the

class intervals is 10. The lower limit of fourth class is

A. 40

B. 50

C.20

D.30

Answer: D

o Watch Video Solution

15. A coin is tossed 200 times and head appeared 120 times. The

probability of getting a head in this experiment is

w
o= ofw o


https://dl.doubtnut.com/l/_ptwaC4YuDlZ0
https://dl.doubtnut.com/l/_Cl88KvYVMT9r

Answer:

° Watch Video Solution

16. Data collected in a survey shows that 40% of the buyers are interested
in buying a particular brand of toothpaste. The central angle of the
sector of the pie chart representing this information is

A.120°

B.150°

C.144°

D.40°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Cl88KvYVMT9r
https://dl.doubtnut.com/l/_JrEiFj6BxZin
https://dl.doubtnut.com/l/_CXDs1vbqyXb9

17. Monthly salary of a person is Rs. 15000. Then the amount he spends on

food and house rent given the central angle of the sector representing

this is 60°.

A.Rs. 5000

B. Rs. 2500

C. Rs. 6000

D. Rs. 9000

Answer:

o Watch Video Solution

18. The central angle of the sector showing the distribution of protein

and of the dry elements is


https://dl.doubtnut.com/l/_CXDs1vbqyXb9
https://dl.doubtnut.com/l/_WJjxFU7R2bZv

A.108°

B.54°

C.30°

D.216°

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_WJjxFU7R2bZv

19. Rohan and Shalu are playing with 5 cards as shown in the figure. What

is the probability of Rohan picking a card without seeing, that has the

number 2 on it?

2
5
1
5
3
5
4
5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_D5yRj95KG3td
https://dl.doubtnut.com/l/_hsAiHnNmyydB

20. What is the ratio of the distribution of proteins in the muscles to that

of the distribution of proteins in the bones? (a) 1: 18 (b) 1: 2 (c) 2:1(d) 18

01

A 3:1

B.1:2

C.1:3

D.2:1

Answer:

o Watch Video Solution

21. What is the central angle of the sector in the pie chart representing

skin and bones together?


https://dl.doubtnut.com/l/_hsAiHnNmyydB
https://dl.doubtnut.com/l/_yKP8woYlyU6e
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A.36°

B.60°

C.90°

D.96°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_yKP8woYlyU6e
https://dl.doubtnut.com/l/_Nbw5m0cvD3qz

22. What is the central angle of the sector in the pie chart representing

hormones enzymes and other proteins.

Heal btinihie-

Farmyms=

Bl
i il bt

A.120°

B.144°

C.156°

D.176°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Nbw5m0cvD3qz

23. A coin is tossed 12 times and results in 7 tails. Then chance of

occurrence of Head is

1
A

o

2
5
12
7
12
5
7

@)

D

Answer:

o Watch Video Solution

24. Total number of outcomes, when a ball is drawn from a bag which

contains 3 red, 5 black and 4 blue balls is

A.8

B.7


https://dl.doubtnut.com/l/_Nbw5m0cvD3qz
https://dl.doubtnut.com/l/_b6dJtKNpBXhf
https://dl.doubtnut.com/l/_1VYmNYFwQjbd

C.9

D.12

Answer:

° Watch Video Solution

25. A graph showing two sets of data simultaneously is known as

A. Pictograph

B. Histogram

C. Pie chart

D. Double bar graph

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1VYmNYFwQjbd
https://dl.doubtnut.com/l/_EfsnXnw3mijf

26. Size of the class 150-175 is

A.150
B.175
C. 25

D.—25

Answer: C

o Watch Video Solution

27.1n a throw of a dice, the probability of getting the number 7 is

>

w
S| = =

D.0


https://dl.doubtnut.com/l/_f0zUQY2VaWuT
https://dl.doubtnut.com/l/_vEh2MdBDyINE

Answer:

° Watch Video Solution

28. Data represented using circles is known as

A.Bar graph

B. Histogram

C. Pictograph

D. Pie chart

Answer: D

° Watch Video Solution

29. Tally marks are used to find

A. Class intervals


https://dl.doubtnut.com/l/_vEh2MdBDyINE
https://dl.doubtnut.com/l/_64XZy0qKaYGe
https://dl.doubtnut.com/l/_4DCm6EsXP0Tx

B. Range

C. Frequency

D. Upper limit

Answer: C

° Watch Video Solution

30. Upper limit of class interval 75-85 is

A.10

B.—10

C.75

D. 85

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4DCm6EsXP0Tx
https://dl.doubtnut.com/l/_YkxpP4wbtXU4
https://dl.doubtnut.com/l/_EsgO6TlHJcNv

31. Numbers 1 to 5 are written on separate slips, i.e one number on one
slip and put in a box. Wahida pick a slip from the box without looking at

it. What is the probability that the slip bears an odd number?

ol ofw o o =

Answer:

o Watch Video Solution

32. A glass jar contains 6 red, 5 green, 4 blue and 5 yellow marbles of
same size. Hari takes out a marble from the jar at random. What is the

probability that the chosen marble is of red colour?


https://dl.doubtnut.com/l/_EsgO6TlHJcNv
https://dl.doubtnut.com/l/_917UimdBigU2

N Ok =
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Answer:

° Watch Video Solution

33. If coin is tossed twice, then the number of possible outcomes is

Al
B.2
C.3

D.4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_917UimdBigU2
https://dl.doubtnut.com/l/_E8Wqurh2rfyh

34.The coin is tossed three times.

A3

B.4

C.6

D.8

Answer:

° Watch Video Solution

35. A dice is tossed two times. The number of possible outcomes is

A 12
B. 24
C.36

D.30


https://dl.doubtnut.com/l/_E8Wqurh2rfyh
https://dl.doubtnut.com/l/_IdNJIcTqJ5UR
https://dl.doubtnut.com/l/_RJPx2Y1OnjZM

Answer: C

° Watch Video Solution

Exercise Fill In The Blanks

1. Data available in an unorganised form is called data.

A. outcomes
B. raw data
C.class

D. frequency

Answer: B

° Watch Video Solution

2.In the class interval 20 - 30, the lower class limit is


https://dl.doubtnut.com/l/_RJPx2Y1OnjZM
https://dl.doubtnut.com/l/_W2928owr9rfa
https://dl.doubtnut.com/l/_dT5eosXdI4kz

° Watch Video Solution

3.In the class interval 26 - 33, 33 is known as

° Watch Video Solution

4.The range of the data 6, 8, 16, 22, 8, 20, 7, 25 is

° Watch Video Solution

5. Cbse|Pie Charts

° Watch Video Solution

6. In the experiment of tossing a coin one time, the outcome is either

° Watch Video Solution



https://dl.doubtnut.com/l/_dT5eosXdI4kz
https://dl.doubtnut.com/l/_uwiZccu5wR3S
https://dl.doubtnut.com/l/_6UmAXTycV8Fo
https://dl.doubtnut.com/l/_FH9NLNcuTtzI
https://dl.doubtnut.com/l/_Bjdq2Vxop9jf

7.When a dice is rolled, the six possible outcomes are

° Watch Video Solution

8. Each outcome or a collection of outcomes in an experiment makes an

° Watch Video Solution

9. An experiment whose outcomes cannot be predicted exactly in advance

is called a experiment.

° Watch Video Solution

10. The difference between the upper and lower limit of a class interval is

called the of the class interval.

| e |


https://dl.doubtnut.com/l/_Bjdq2Vxop9jf
https://dl.doubtnut.com/l/_I9pTh6h7wO1O
https://dl.doubtnut.com/l/_l45zRlcl1Xfq
https://dl.doubtnut.com/l/_XbMFm27eksPv
https://dl.doubtnut.com/l/_VQXOFHeyNgEM

I & Watch Video Solution I

1. The sixth class interval for a grouped data whose first two class

intervals are 10-15and 15 - 20 is

° Watch Video Solution



https://dl.doubtnut.com/l/_VQXOFHeyNgEM
https://dl.doubtnut.com/l/_kdt4E1G8IlzD
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The total number of people surveyed is

° Watch Video Solution



https://dl.doubtnut.com/l/_IsQd5UStb583
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13.

The number of people owning books more than 60 is

o Watch Video Solution



https://dl.doubtnut.com/l/_zq1xii4YgMw8
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14.

The number of people owning books less than 40 is

° Watch Video Solution



https://dl.doubtnut.com/l/_BslRpzQlkH5F
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15. .

The number of people having books more than 20 and less than 40 is

° Watch Video Solution



https://dl.doubtnut.com/l/_O3y7QlHMo3od

16. The number of times a particular observation occurs in a given data is

called its

o Watch Video Solution

17. When the number of observations is large, the observations are

usually organised in groups of equal width called

o Watch Video Solution

18. The total number of outcomes when a coin is tossed is

o Watch Video Solution

19. The class size of the interval 80 - 85 is

o Watch Video Solution



https://dl.doubtnut.com/l/_gfNuxM3ROSoq
https://dl.doubtnut.com/l/_feLS12o85M7R
https://dl.doubtnut.com/l/_6uOVVEU6XRyi
https://dl.doubtnut.com/l/_n0RuuM6UMQsf
https://dl.doubtnut.com/l/_74W5NQ2Hpuxr

20. In a histogram are drawn with width equal to a class interval

without leaving any gap in between.

° Watch Video Solution

21. When a dice is thrown, the outcomes are

° Watch Video Solution

22. In a histogram, class intervals and frequencies are taken along

° Watch Video Solution

23. In the class intervals 10-20, 20-30, 20 is taken in the interval 10-20 (b)

the interval 20-30 both intervals 10-20, 20-30 (d) none of the intervals

° Watch Video Solution



https://dl.doubtnut.com/l/_74W5NQ2Hpuxr
https://dl.doubtnut.com/l/_nYsLa1CC2DGL
https://dl.doubtnut.com/l/_TpIb4pAiP31m
https://dl.doubtnut.com/l/_UhAGPzHsdg2a

Exercise True Or False

1. A type of graph in which a circle is divided into sectors such that each

sector represents a proption of the whole is a

° Watch Video Solution

2.The central angle of a component in a pie chart is

° Watch Video Solution

3. The central angle of a component in a pie chart is

° Watch Video Solution

4.1n a pie chart two central angles can be of 180°.

e



https://dl.doubtnut.com/l/_UhAGPzHsdg2a
https://dl.doubtnut.com/l/_GtKFhKHTubMc
https://dl.doubtnut.com/l/_53dnFaBgki90
https://dl.doubtnut.com/l/_hxk2zpXvzZqg
https://dl.doubtnut.com/l/_ujA1d6yBUMWq

| ¥ vvatch viaeo sSolution J

5.In a pie chart two or more central angles can be equal.

° Watch Video Solution

6. The probability of getting a prime number when a die is thrown once is
2

3

° Watch Video Solution

Marks (obtained out of 10) 4 5 7 8 9 10
" Frequency 510 8 6 12 9

9 students got full marks. ??

° Watch Video Solution



https://dl.doubtnut.com/l/_ujA1d6yBUMWq
https://dl.doubtnut.com/l/_OMaoHpWuqPNF
https://dl.doubtnut.com/l/_SjKTxW04LAy6
https://dl.doubtnut.com/l/_tyebXcCR6z1Q

g Marks (obtainedout of 10) 4 5 7 8 9 10
" Frequency 5 10 8 6 12 9

The frequency of less than 8 marks is 29. ??

° Watch Video Solution

° Marks (obtainedout of10) 4 5 7 8 9 10
" Frequency 5 10 8 6 12 9

The frequency of more than 8 marks is 21.

° Watch Video Solution

o Marks (obtainedout of 10) 4 5 7 8 9 10
" Frequency 5 10 8 6 12 9

10 marks the highest frequency.

° Watch Video Solution

11. If the fifth class interval is 60 - 65, fourth class interval is 55 - 60, then

the first class interval is 45-50.


https://dl.doubtnut.com/l/_QsFCNNhWqoyl
https://dl.doubtnut.com/l/_3KzREGHhYKNY
https://dl.doubtnut.com/l/_mEQSXIu1I9hm
https://dl.doubtnut.com/l/_3I7NyC9nbexp

° Watch Video Solution

12. From the histogram given on the right, we can say that 1500 males

above the age of 20 are literate.
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o Watch Video Solution



https://dl.doubtnut.com/l/_3I7NyC9nbexp
https://dl.doubtnut.com/l/_D7B0CXYlhyZ7
https://dl.doubtnut.com/l/_5YqVhXIDY2ys

13. The class size of the class interval 60 - 68 is

A.6

B.7

C.9

D.8

Answer: D

° Watch Video Solution

14. If coin is tossed twice, then the number of possible outcomes is ..............

° Watch Video Solution

15. A die is thrown once. The probability of getting an even numbers is

° Watch Video Solution



https://dl.doubtnut.com/l/_5YqVhXIDY2ys
https://dl.doubtnut.com/l/_SMnkemqbhc3g
https://dl.doubtnut.com/l/_HOeK1DW8OB4i
https://dl.doubtnut.com/l/_H4tSPsbfcwos

16. On throwing a dice once, the probability of occurence of a composite

1
number is o True or false.

° Watch Video Solution

17.1f there are 15 balls in a bag with 6 red, 4 white and 5 yellow, then the

probability of drawing a yellow ball is.

° Watch Video Solution

18. Set of all possible outcomes of an experiment is called its

° Watch Video Solution

1
19. The probability of getting number 6 in a throw of a dice is rE Similarly

1
the probability of getting a number 5 is 5 True or false.

° Watch Video Solution



https://dl.doubtnut.com/l/_H4tSPsbfcwos
https://dl.doubtnut.com/l/_id6e9lpsft9U
https://dl.doubtnut.com/l/_VkgD5ZSYX7BW
https://dl.doubtnut.com/l/_tqXr26LnIBdR

20. The probability of getting a prime number is the same as that of a

composite number in a throw of a dice. True or false.

° Watch Video Solution

21. If an unbiased dice is rolled, then the probability of getting an even

number is then/to that of getting an odd number.

° Watch Video Solution

22.Random experiment

° Watch Video Solution

23. State True or False:

The following pictorial representation of data is a histogram.


https://dl.doubtnut.com/l/_tqXr26LnIBdR
https://dl.doubtnut.com/l/_dF7B2sKZfruN
https://dl.doubtnut.com/l/_fMYlHVhXUHii
https://dl.doubtnut.com/l/_619eHSZRYaLH
https://dl.doubtnut.com/l/_eyFTAu62pbJE
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° Watch Video Solution

1. Given below is a frequency distribution table. Read it and answer the

questions that follow:


https://dl.doubtnut.com/l/_eyFTAu62pbJE
https://dl.doubtnut.com/l/_wCTfekwOj8Qh

Class [nterval Frequency
11} — 20 5
A0 = 0 10)
:ﬁ-[]-- ;‘HJ o A
40} - Hil) 15
Rl — Gl 12

What is the lower limit of the second class interval?

o Watch Video Solution

2. Given below is a frequency distribution table. Read it and answer the

questions that follow:


https://dl.doubtnut.com/l/_wCTfekwOj8Qh
https://dl.doubtnut.com/l/_1HDpqWlc2Hty

Class Interval Frequency
1 - 20 5
20 = Al 10}

) - 40 ] 4
40} - Hl) 15
B - Gil) 12

What is the upper limit of the last class interval?

o Watch Video Solution

3. Given below is a frequency distribution table. Read it and answer the

questions that follow:


https://dl.doubtnut.com/l/_1HDpqWlc2Hty
https://dl.doubtnut.com/l/_GTqwVslKqBBp

Class Interval Frequency
11— 20 3
A A0 111
A A0 k|
ALY - Hi) |
SN W | 2

What is the frequency of the third class?

o Watch Video Solution

4. Given below is a frequency distribution table. Read it and answer the

questions that follow:


https://dl.doubtnut.com/l/_GTqwVslKqBBp
https://dl.doubtnut.com/l/_W9Sj9Odozmqr

Class Inlerval Frequency
1} — 20 5
FANEEN 1§ _]-[}

3 - 40 ) 1
A0 - Hld 15
B — () 12

Which interval has a frequency of 10?7

° Watch Video Solution

5. Given below is a frequency distribution table. Read it and answer the

questions that follow:


https://dl.doubtnut.com/l/_W9Sj9Odozmqr
https://dl.doubtnut.com/l/_XwwKHecaRWPc

Class Interval Frequency
1} - 20 5
A0 = A0 10)
:i{]- : -.H:I - A
40y - Hl) 15
STHIE 12

Which interval has the lowest frequency?

o Watch Video Solution

6. Given below is a frequency distribution table. Read it and answer the

questions that follow:


https://dl.doubtnut.com/l/_XwwKHecaRWPc
https://dl.doubtnut.com/l/_oZQBLpec57zR

Class Interval Frequency
[y — 200 S
A0 = ) 110}
.'i{}-— 4.1!1 - A
A0 - Hi) 15
B — () 12

What is the class size?

° Watch Video Solution

7.The top speeds of 30 different land animals have been organised into a

frequency table given below:

Maximum speed (in km/h) ] 10-20 | 20-30 | 30-40 10-5

Number of antmals | 3 5 10 | 8

Draw a histogram for the given data.

° Watch Video Solution



https://dl.doubtnut.com/l/_oZQBLpec57zR
https://dl.doubtnut.com/l/_bjPWO4Xq26zA
https://dl.doubtnut.com/l/_4AZ1TvYNJUUH

8. Given below is a pie chart showing the time spend by a group of 350
children in different games. Observe it and answer the questions that

follow.

lees= tham 1 1o

[

2 hrs

I s

1 o=

5 hr=

How many children spend at least one hour in playing games?

o Watch Video Solution

9. Given below is a pie chart showing the time spend by a group of 350
children in different games. Observe it and answer the questions that

follow.


https://dl.doubtnut.com/l/_4AZ1TvYNJUUH
https://dl.doubtnut.com/l/_3HVSZJ8huKTz

@ les= tham 1 hr
] 1o
E 2hirs

3 hrs

o 4 hra
% 5 hrs

How many children spend more than 2 hours in playing games?

° Watch Video Solution

10. Given below is a pie chart showing the time spend by a group of 350
children in different games. Observe it and answer the questions that

follow.

@ less than 1 hr
] 1w
m 2 lirs

3 hrs
E [ % 4 hra
% 5 hrs

How many children spend 3 or lesser hours in playing games?


https://dl.doubtnut.com/l/_3HVSZJ8huKTz
https://dl.doubtnut.com/l/_ao9mdjtiXpJz

° Watch Video Solution

11. Given below is a pie chart showing the time spend by a group of 350
children in different games. Observe it and answer the questions that

follow.

less than 1 hr

1t

2 s

EHEI

3 hrs
; | % 4 hrs
% 5 hrs

Which is greater — number of children who spend 2 hours or more per

day or number of children who play for less than one hour?

o Watch Video Solution

12. The pie chart on the right shows the result of a survey carried out to

find the modes of travel used by the children to go to school. Study the


https://dl.doubtnut.com/l/_ao9mdjtiXpJz
https://dl.doubtnut.com/l/_Xx7N17zKCCkD
https://dl.doubtnut.com/l/_Bye96ShFwd4E

pie chart and answer the questions that follow.

What is the most common mode of transport?

° Watch Video Solution

13. The pie chart on the right shows the result of a survey carried out to
find the modes of travel used by the children to go to school. Study the

pie chart and answer the questions that follow.


https://dl.doubtnut.com/l/_Bye96ShFwd4E
https://dl.doubtnut.com/l/_rovUP0hKGNOm

What fraction of children travel by car?

o Watch Video Solution

14.The pie chart on the right shows the result of a survey carried out to
find the modes of travel used by the children to go to school. Study the

pie chart and answer the questions that follow.


https://dl.doubtnut.com/l/_rovUP0hKGNOm
https://dl.doubtnut.com/l/_T9GFhqXo45PM

If 18 children travel by car, how many children took part in the survey?

° Watch Video Solution

15. The pie chart on the right shows the result of a survey carried out to
find the modes of travel used by the children to go to school. Study the

pie chart and answer the questions that follow.


https://dl.doubtnut.com/l/_T9GFhqXo45PM
https://dl.doubtnut.com/l/_SNCI0ara8o46

If 18 children travel by car, How many children use taxi to travel to school?

° Watch Video Solution

16. The pie chart on the right shows the result of a survey carried out to
find the modes of travel used by the children to go to school. Study the

pie chart and answer the questions that follow.


https://dl.doubtnut.com/l/_SNCI0ara8o46
https://dl.doubtnut.com/l/_IsqRn0zOJUiu

By which two modes of transport are equal number of children travelling?

° Watch Video Solution

17. 4 A dice is thrown once, then the probability of getting an odd prime

number is

° Watch Video Solution



https://dl.doubtnut.com/l/_IsqRn0zOJUiu
https://dl.doubtnut.com/l/_OgIz8VSlytnl

18. A dice is rolled once. What is the probability that the number on top
will be

Greater than 5

° Watch Video Solution

19.1n a throw of a dice, find the probability of:
(i) getting a multiple of 3

(ii) getting a number which is not a multiple of 3.

° Watch Video Solution

20. A dice is rolled once. What is the probability that the number on top
will be

Less than 1

° Watch Video Solution



https://dl.doubtnut.com/l/_gOSlomC1BBBS
https://dl.doubtnut.com/l/_bLLYgYZuwOuc
https://dl.doubtnut.com/l/_B0KBYRI95ndb
https://dl.doubtnut.com/l/_gNts5SvNWRJR

21. A dice is rolled once. What is the probability that the number on top
will be

A factor of 36

o Watch Video Solution

22. A dice is rolled once. What is the probability that the number on top
will be

A factor of 6

o Watch Video Solution

23. Classify the following statements under appropriate headings.
(a) Getting the sum of angles of a triangle as 180°.

(b) India winning a cricket match against Pakistan.

(c) Sun setting in the evening.

(d) Getting 7 when a die is thrown.

(e) Sun rising from the west.


https://dl.doubtnut.com/l/_gNts5SvNWRJR
https://dl.doubtnut.com/l/_L1tDkWpYkUJ5
https://dl.doubtnut.com/l/_xVl94o2fmiAK

(f) Winning a racing competition by you.

Certain to happen | Impossible to happen May or may not happen

° Watch Video Solution

24. Study the pie chart given below depicting the marks scored by a
student in an examination out of 540. Find the marks obtained by him in

each subject.

° Watch Video Solution

25. A bag contains white and yellow balls. The probability of choosing a
2
white ball is 9 If the total number of balls in the bag is 36, then number

of yellow balls is.

° Watch Video Solution



https://dl.doubtnut.com/l/_xVl94o2fmiAK
https://dl.doubtnut.com/l/_L2ckYwRgPmQW
https://dl.doubtnut.com/l/_LeQI06EdiiJs

26. Look at the histogram below and answer the questions that follow.

Bua
L=

14

143

Murmnber of students —g

125 130 135 1440 145 130 135

Heichis of studenis —
fin el

How many students have height more than or equal to 135 cm but less

than 150 cm?

° Watch Video Solution



https://dl.doubtnut.com/l/_jlAg8RH9sOLK

27. Look at the histogram below and answer the questions that follow.

ol siucleriis ——gw
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Which class interval has the least number of students?

° Watch Video Solution



https://dl.doubtnut.com/l/_x9pl1YzoguLw

28. Look at the histogram below and answer the questions that follow.

i
T "
1
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= 14
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= g
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fhrnmins o sivuclernile =

What is the class size?

° Watch Video Solution



https://dl.doubtnut.com/l/_4abCU4ZNzJoC

29. Look at the histogram below and answer the questions that follow.

—
x

Manpnlier ol sileris

L 3

Fhrnminns o sluglerils s
ERN [11}

How many students have height less than 140 cm?

o Watch Video Solution

30. Following are the number of members in 25 families of a village:
6,8,7,7,6,5,3,2,5,6,8,7,7,4,3,6,6,6,7,5,4, 3,3, 2,5.
Prepare a frequency distribution table for the data using class intervals O-

2,24, etc.

o Watch Video Solution



https://dl.doubtnut.com/l/_3yKLrOlo2mi1
https://dl.doubtnut.com/l/_FdCt7iS5PLnL

31. The marks obtained (out of 20) by 30 students of a class in a test are
as follows:

14,16, 15, 11, 15, 14, 13, 16, 8, 10, 7, 11, 18, 15, 14, 19, 20, 7, 10, 13, 12, 14, 15, 13, 16,
17,14, 11,10, 20.

Prepare a frequency distribution table for the above data using class
intervals of equal width in which one class interval is 4-8 (excluding 8 and

including 4).

o Watch Video Solution

32.The weights (in kg) of 30 students of a class are

39,43,32,37,29,26,31,45,
46,31,37,38,30,39,36,41,35,34,41,46,39,38,36,38,40,42,33,43,44 33.

Prepare a frequency distribution table using one class interval as 30-35 in
which 30 is included and 35 excluded. using the above data, draw a

histogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_s9qfAhkprCyg
https://dl.doubtnut.com/l/_svSxQGClq1RD

33.The weights (in kg) of 30 students of a class are

39,43,32,37,29,26,31/45,

46,31,37,38,30,39,36,41,35,34,41,46,39,38,36,38,40,42,33,43,44 33.
Prepare a frequency distribution table using one class interval as 30-35 in

which 30 is included and 35 excluded. using the above data, draw a

histogram.

° Watch Video Solution

34. Shoes of the following brands are sold in Nov. 2007 at a shoe store.

Construct a pie chart for the data.

Brand Number of pair of shoes sold
A 1300
I3 1200
O W}
1 a0
i 2

o Watch Video Solution



https://dl.doubtnut.com/l/_Bv8JrmDVMEQg
https://dl.doubtnut.com/l/_6h1rh6BZ947Z
https://dl.doubtnut.com/l/_DZBbyy2lheNG

35. The following pie chart depicts the expenditure of a state government

under different heads,

',

If the total spending is 10 crores, how much 20% do money was spent on

roads?

o Watch Video Solution



https://dl.doubtnut.com/l/_DZBbyy2lheNG

36. The following pie chart depicts the expenditure of a state government

under different heads,(if the total spending is 10 crores)

How many times is the amount of money Others spent on education

compared to the amount spent on roads?

° Watch Video Solution



https://dl.doubtnut.com/l/_Inut8DR0XWmS

37. The following pie chart depicts the expenditure of a state government

under different heads,

What fraction of the total expenditure is spent on both roads and public

welfare together?

o Watch Video Solution



https://dl.doubtnut.com/l/_CtQPPjpwKcXY

38. The following data represents the different number of animals in a

zoo. Prepare a pie chart for the given data.

Animals Number of animals
I heer 42
Flephant | 5

Cilralle 26

[l iles 24

Tiger |4

° Watch Video Solution

39. Playing cards

(a) From a pack of cards the following cards are kept face down:

Suhail wins if

he picks up a face card. Find the probability of Suhail winning?

o Watch Video Solution



https://dl.doubtnut.com/l/_cOXqewJ9kBe9
https://dl.doubtnut.com/l/_M4uNS2yUCGkG

40. Now the following cards are added to the above cards:

N :
4 i ;

What is the probability of Suhail winning now? Reshma wins if she picks
up a 4. What is the probability of Reshma winning?

(Queen, King and Jack cards are called face cards.]

o Watch Video Solution

41. Construct a frequency table for the following weights (in gm) of 35
mangoes using the equal class intervals, one of them is 40-45 (45 not
included): 30,40,45,32,43,50,55,62,70,70,61,62,53,52,50,42,35,37,53,
55,65,70,73,74,45,46,58,59,60,62,74,34,35,70,68 What is the class marks of
the class interval 40-45? What is the range of the above weights? How

many classes are there?

o Watch Video Solution



https://dl.doubtnut.com/l/_M4uNS2yUCGkG
https://dl.doubtnut.com/l/_nIvC6VKN6SuX
https://dl.doubtnut.com/l/_79dEqn4d73uI

42. Construct a frequency table for the following weights (in gm) of 35
mangoes using the equal class intervals, one of them is 40-45 (45 not
included): 30,40,45,32,43,50,55,62,70,70,61,62,53,52,50,42,35,37,53,
55,65,70,73,74,45,46,58,59,60,62,74,34,35,70,68 What is the class marks of
the class interval 40-45? What is the range of the above weights? How

many classes are there?

o Watch Video Solution

43. Complete the following table:

Welghts Tally Marks Frequency

(in kg.) (Number of persons)
40 - KO IH PH 1

By - Bl FHL TH 1T

il - Al M |

T — O I

B0 - 00 |

Find the total number of persons whose weights are given in the above

table.

| o Watch Video Solution


https://dl.doubtnut.com/l/_79dEqn4d73uI
https://dl.doubtnut.com/l/_m3UTHRB7Ic6C
https://dl.doubtnut.com/l/_JhAGRrcec8Jv

44.Draw a histogram for the following data.

Class 10-15 ] 15-20] 20-25] 25-30] 30-135] 35-40
interval
Frequency | M) YA Hi) 5H 24 5

o Watch Video Solution

45. In a hypothetical sample of 20 people the amounts of money with
them were found to be as follows:
114,108,100,98,101,109,117,119,126,131,136,143,156, 169,182,195,207,219,235,118.
Draw the histogram of the frequency distribution (taking one of the class

intervals as 50-100)

o Watch Video Solution

46. The histogram given below shows the number of literate females iin

the age group of 10 to 40 years. Study the histogram carefully and


https://dl.doubtnut.com/l/_JhAGRrcec8Jv
https://dl.doubtnut.com/l/_i61t3s9L0RXi
https://dl.doubtnut.com/l/_q8WZzexwyV8K
https://dl.doubtnut.com/l/_MR1733IzkJT7

answer the questions that follow.

(i) Write the classes, assuming that all the classes are of equal width.
(ii) What is the class width?
(iii) In which age group are the literate females the least?

(iv) In which age group is the number of literate females the highest?

o Watch Video Solution



https://dl.doubtnut.com/l/_MR1733IzkJT7

47.The below histogram shows the number of literate females in the age

group of 10 to 40 years in a town.
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What is the classes width?

° Watch Video Solution

48.The below histogram shows the number of literate females in the age

group of 10 to 40 years in a town.


https://dl.doubtnut.com/l/_dUkZCMlRlO52
https://dl.doubtnut.com/l/_Yg7sdh23ElAl
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In which age group are literate females the least?

° Watch Video Solution

49.The below histogram shows the number of literate females in the age

group of 10 to 40 years in a town.


https://dl.doubtnut.com/l/_Yg7sdh23ElAl
https://dl.doubtnut.com/l/_FVGkMJMAvq5j
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In which age group is the number of literate females the highest?

° Watch Video Solution

50. The following histogram shows the frequency distribution of teaching

experiences of 30 teachers in various schools:


https://dl.doubtnut.com/l/_FVGkMJMAvq5j
https://dl.doubtnut.com/l/_D72IMeoQjqYy

What is the class width?

L &
h < WM <

-
(=

Number of teachers s
th

0

5 10 15 20 25

Teaching experience =

o Watch Video Solution

51. The following histogram shows the frequency distribution of teaching

experiences of 30 teachers in various schools:


https://dl.doubtnut.com/l/_D72IMeoQjqYy
https://dl.doubtnut.com/l/_ZuZzaCSGZsn8

How many teachers are having the maximum teaching experience and

how many have the least teaching experience?

L &
h < WM <

-
(=

Number of teachers s
th

O 5 10 15 20 25
Teaching experience =

o Watch Video Solution



https://dl.doubtnut.com/l/_ZuZzaCSGZsn8

52. The following histogram shows the frequency distribution of teaching
experiences of 30 teachers in various schools:

How many teachers have teaching experience of 10 to 20 years?

< W
h o

10

Number of teachers s
th

0

5 10 15 20 25

Teaching experience =

o Watch Video Solution



https://dl.doubtnut.com/l/_23J6nFqZuRVh
https://dl.doubtnut.com/l/_zEXNuevAVQw6

53.1n a district, the number of branches of different banks is given below:

Bank State Bank| Bank Punjab Canara Bank
of India |of Baroda |[National Bank|
Number of 30 17 15 ¥
Branches

Draw a pie chart for this data.

o Watch Video Solution

54. For the development of basic infrastructure in a district, a project of

Rs 108 crore approved by Development Bank is as follows:

Item Head | Road | Electricity | Drinking water| Sewerage |
Amount 442 16,2 27.00) 21.6
in crore (Rs.)

Draw a pie chart for this data.

o Watch Video Solution

55. In the time table of a school, periods allotted per week to different

teaching subjects are given below:


https://dl.doubtnut.com/l/_zEXNuevAVQw6
https://dl.doubtnut.com/l/_JvoqrihAwEF7
https://dl.doubtnut.com/l/_rROdvH48wUTt

Subject | Hindi|English |Maths [Science| Social [Computer| Sanskriy
Science
Periods 7 8 8 bl 7 4
Allotted

Draw a pie chart for this data.

° Watch Video Solution

56. A survey was carried out to find the favourite beverage preferred by a
certain group of young people. The following pie chart shows the findings

of this survey. From this pie chart answer the following:


https://dl.doubtnut.com/l/_rROdvH48wUTt
https://dl.doubtnut.com/l/_y8bd7DOdmap1
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Which type of beverage is liked by the maximum number of people.

° Watch Video Solution

57. A survey was carried out to find the favorite beverage preferred by a

certain group of young people. The following pie chart shows the findings

of this survey. From this pie chart answer the following:



https://dl.doubtnut.com/l/_y8bd7DOdmap1
https://dl.doubtnut.com/l/_u3KHXtD9inf6
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If 45 people like tea, how many people were surveyed?

o Watch Video Solution

58.The following data represents the approximate percentage of water in

various oceans. Prepare a pie chart for the given data.

Pacific 40 %
Atlantic 30 %
Indian 20 %
Others 10%


https://dl.doubtnut.com/l/_u3KHXtD9inf6
https://dl.doubtnut.com/l/_WQ0yXsbh6gHZ

° Watch Video Solution

59. At a Birthday Party, the children spin a wheel to get a gift. Find the

probability of

getting a ball

° Watch Video Solution



https://dl.doubtnut.com/l/_WQ0yXsbh6gHZ
https://dl.doubtnut.com/l/_YekFf2hhrfkw

60. At a Birthday Party, the children spin a wheel to get a gift. Find the

probability of

getting a toy car

° Watch Video Solution



https://dl.doubtnut.com/l/_8BqLrt2GU6yn

61. At a Birthday Party, the children spin a wheel to get a gift. Find the

probability of

any toy except a chocolate

° Watch Video Solution



https://dl.doubtnut.com/l/_hGGt74bN9mix

62. Sonia picks up a card from the given cards.

R
1

Calculate the probability of getting

R
4

G
: 10

an odd number

o Watch Video Solution

63. Sonia picks up a card from the given cards.



https://dl.doubtnut.com/l/_RKLP9QWzrm9f
https://dl.doubtnut.com/l/_pKOThFfxoJ4F

Calculate the probability of getting

aY card

° Watch Video Solution

64. Sonia picks up a card from the given cards.

. .
G
? M

Calculate the probability of getting

(a) G card

° Watch Video Solution



https://dl.doubtnut.com/l/_pKOThFfxoJ4F
https://dl.doubtnut.com/l/_VCNqnbWvFp8f

65. Sonia picks up a card from the given cards.

Calculate the probability of getting

B card bearing number > 7

o Watch Video Solution



https://dl.doubtnut.com/l/_6X8jHd02fsio

66. Identify which symbol should appear in each sector in 113, 114.

E

o Watch Video Solution



https://dl.doubtnut.com/l/_JCYSd4kF9a3u
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67.

° Watch Video Solution

68. A financial counselor gave a client this pie chart describing how to

budget his income. If the client brings home Rs. 50,000 each month, how


https://dl.doubtnut.com/l/_DfwLaAzgxvwB
https://dl.doubtnut.com/l/_nJz4G5Y027if

much should he spend in each category?

1. Housing
2. Food (ncluding eating out)

3. Car Lean & Mamtenance

4. Uiihties
5. Phone
6. Clothing

7. Enteriainment

° Watch Video Solution

69. Following is a pie chart showing the amount spent in rupees (in

thousands) by a company on various modes of advertising for a product.


https://dl.doubtnut.com/l/_nJz4G5Y027if
https://dl.doubtnut.com/l/_wdNMLyM7l6r3

. Television
9) 2. Newspapers
40

3. Magazines

4. Radio

5. Business papers
6. Direct mail

7. Yellow pages

8. Outdoor

9. Miscellaneous

Which type of media advertising is the greatest amount of the total?

(1)

° Watch Video Solution

70. Following is a pie chart showing the amount spent in rupees (in

thousands) by a company on various modes of advertising for a product.


https://dl.doubtnut.com/l/_wdNMLyM7l6r3
https://dl.doubtnut.com/l/_4AtlkP8kQUNI

. Television

9) 2. Newspapers
40

(1)

3. Magazines

4. Radio

5. Business papers
6. Direct mail

7. Yellow pages

8. Outdoor

9. Miscellaneous

Which type of media advertising is the least amount of the total?

° Watch Video Solution

71. Following is a pie chart showing the amount spent in rupees (in

thousands) by a company on various modes of advertising for a product.


https://dl.doubtnut.com/l/_4AtlkP8kQUNI
https://dl.doubtnut.com/l/_eNDirDCggOTh

. Television

9) 2. Newspapers
40

(1)

3. Magazines

4. Radio

5. Business papers
6. Direct mail

7. Yellow pages

8. Outdoor

9. Miscellaneous

What per cent of the total advertising amount is spent on direct mail

campaigns?

° Watch Video Solution

72. Following is a pie chart showing the amount spent in rupees (in

thousands) by a company on various modes of advertising for a product.


https://dl.doubtnut.com/l/_eNDirDCggOTh
https://dl.doubtnut.com/l/_ZpFyWYlKsK24

9 1. Television

(9) 2. Newspapers
40

(1)

3. Magazines

4. Radio

5. Business papers
6. Direct mail
. Yellow pages
3. Outdoor
9. Miscellaneous

What per cent of the advertising amount is spent on newspaper and

~]

O @

magazine advertisements?

° Watch Video Solution

73. Following is a pie chart showing the amount spent in rupees (in

thousands) by a company on various modes of advertising for a product.


https://dl.doubtnut.com/l/_ZpFyWYlKsK24
https://dl.doubtnut.com/l/_XpqevOUgs3Rz

9)
40

(1)

7

-
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Television
Newspapers
Magazines
Radio

Business papers
Direct mail
Yellow pages
Outdoor

Miscellaneous

What media types do you think are included in miscellaneous? Why aren't

those media types given their own category?

o Watch Video Solution



https://dl.doubtnut.com/l/_XpqevOUgs3Rz

